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12 MWQV\IC is the amount of charge flowing in a circuit every second. It
is measured in GW\BS by an OLth%{f/f .(8.1)
3] E@l&lc@ﬁ is a property of a material where a load slows down the

chorge in a circuit. 1t is measured in O\ﬂmg .(8.1)

Conventional current flows from + to
’3 — _to_* .82
Symbols are used to represent parts of an electric circuit (8.2)
Oy law states that the electrical resistance of the circuit is the ratio of the
voltage to the current. (8.3) The three formulas are: \/ = 1 pad \(&
T= Ve
R=Vv*~T

but electrons really flow from

Chapter 9: Circuits

L] Seves circuits have one path, and \"xt\f"ﬁ “Qk circuits have

multtiple paths (9.1)

m The _ CUY VRN k is the same in each part of a series circuit, and each load uses

a portion of the same voltage. (9.1)
/ The current in each part of a parallel circuit depends on the resistance of that path. {9.1)
! q B When resistors are placed in series, the fotal resistance of the circuit _ LN CYEG<ES

When resistors are placed in parallel, the total resistance ( !E( !Eﬁ% 5 L{9.1)

B FElectric power is the rate at which electric potential energy is fransformed. The formula
for Power is P = Vx T (9.2)
B Power consumption mulfiplied by time of use equals the amount of
) { } used by a device. (9.2)
B Energy used in the home is meos%lréd in < \O\/\.DCH’ "\O‘/i's (symbol k—W ’}’l)
(9.2)

Static Questions:

la. When an acetate strip is rubbed with paper towel, it becomes negatively charged.

s ek elechrone move 4o the acelele step
[

b. What kind of charge will the paper fowel have?2 Why?

7 Posdve drarse , bole Hhe BT loss
’ e\cc\\mns

2a. A positively charged object is brought near another object. If the two objects repel,
what is the charge on the second object?

/( The second obieck 1= ’\?DSlhvdj cherepd .

b. If this positively charged object atfracts an unknown object, what does this indicate
about the charge on the unknown object? Explain.

/QL evther neotyal ov ﬂﬁiﬂthtLj 0145‘@“0(

&, What effect does grounding have on a charged olject?

—N\

/

ollouss eleckons 1o Floww to Hhe 3vrw\o{

:
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Series vs. Parallel Circuits

O N ey @ ST

Series Circuit Paraliel Circuit

Total Voltage

(/I\3 L \/\ ‘*’V’L:\'Vg

| Total Current

(qapal” L= lal=s " el s

Total Resistance

R4+ Ry Y B | " O A -

(A Cd)

Indicate whether the statement applies to a series circuit (§) or a parallel circuit (P).

MMEUREYEY

The current is the same Ihroughout the circuit.

Adding a resistor will decrease the fot,dl resistance of the circuit.
There is only one pathway for electrons to flow.

As more cells are added to the circuit, the brightness of the light bulb increases.
There is more than one pathway for current to flow.

Adding a resistor will increase the total resistance of the circuit.

The voltage across each resistor in the circuit is the same.
There are junction points in the circuit.
The current through each pathway of the circuit adds up to the total current

Ve =\ - | (same)

supplied by the source.

Calculations with series circuits

Use the diagrams to answer the questions below.

30V
K
Resistor 1 Resistor 2
A ——AAN
40Q 6.0Q
Iy =3.0A N
Vi=1? Vy,=?

1. (a) What is the total resistance in the circuit?

Hr b= 10

(b) What Is the amount of current flowing
through Resistor 27

E N

(c) Using Ohm's Law (V= IR), determine
the voltage drop across Resistor 2.
V=R =30
- gV

(d) What is the voltage drop across Resistor
17__20-\16 =

V=1 Wy ==

|

V=4V Vi & Resistor 1
$

2. (a) What is the tolal voltage in the circuit?
L = 8V

_‘—-

L V;=6.0V
Resistor 3 § Vs I3 =2.0A
2 Ry=1
Resistor 2 § Vs Ua=00
fy=7

(b) What is the amount of current flowing through Resistor 27

(c) Ohm’s law is R = ‘7/ Use Ohm'’s law to determine the

resistance of Resistor 3. 2= ‘/= = b_ E’% ﬂj

[ =

1’



